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NEAL K 4 ouT I N A= S ESAN
41 | FJFUE 53 59 112 31.6 80. 4
42 | P ARIEBL 50 55 105 24. 4 80. 6
43 | ATERAFD 48 56 104 23.2 80. 8
44 | HFHEA 55 55 110 29.2 80. 8
45 | ELE 48 54 102 20. 8 81.2
46 | ARLE 49 55 104 22.0 82.0
47 | HPRZER 54 56 110 28.0 82.0
48 | EiTHET 58 50 108 25. 6 82. 4
49 | Fif) | FkE 58 55 113 30. 4 82.6
50 | o2 E FnZE i 51 49 100 17.2 82.8
51 | EHARET 58 54 112 29. 2 82.8
52 | HHBES 51 54 105 22.0 83.0
53 | MIF5 1 57 58 115 31.6 83. 4
54 | ARFZEL 49 59 108 24. 4 83.6
55 | K&K #] 56 57 113 29. 2 83.8
56 | FILAEE 48 51 99 14.8 84. 2
57 | IO E#H 59 56 115 28.0 87.0
58 | {AIPNIRER 57 66 123 35. 2 87.8
59 | EIERIE 65 65 130 36. 0 94. 0
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1 BRI 44 44 88 16.0 72.0
2 WEES 38 37 75 2.8 72.2
3 HATIE 38 43 81 8.8 72.2
4 RAESS 46 46 92 18.4 73.6
5 PTG 44 46 90 16.0 74.0
6 FEHRWEZ 44 44 88 13.6 74.4
7 JLEPRETE 51 43 94 19.6 74. 4
8  AFHHT 41 52 93 18. 4 74. 6
9 P EEZ 39 41 80 5.2 74.8
10 | FaIAAR  Jefi 47 44 91 16.0 75.0
11 7§)IZFZ 46 45 91 16.0 75.0
12 RAEM 42 42 84 8.8 75.2
13 | DR 45 45 90 14. 8 75. 2
14 HHER 41 42 83 7.6 75. 4
15 | &+ 45 50 95 19.6 75. 4
16 | JbibsEz 46 48 94 18. 4 75. 6
17 | SFHIBEE 49 45 94 18. 4 75. 6
18 | rhiEpA 44 41 85 8.8 76. 2
19 | Bl 51 46 97 20. 8 76. 2
20  ERE 45 39 84 7.6 76. 4
21 JIARYE 43 47 90 13.6 76. 4
22 | ARFEE 45 43 88 11.2 76.8
23 FAHRTHT 46 47 93 16.0 77.0
24 | FLANE TS 48 49 97 19.6 77.4
25 | P9 EEMRT 51 46 97 19.6 77.4
26 | [fooiESE 49 53 102 24. 4 77.6
27 WEACER 51 50 101 23.2 77.8
28 | AR 53 48 101 23.2 77.8
29 | FRor=EF] 47 45 92 13.6 78. 4
30 | AfESLT 49 55 104 25.6 78. 4
31 AARNET 51 50 101 22.0 79.0
32 | IEHEEGL 47 53 100 20. 8 79.2
33 HHERR 50 55 105 25.6 79.4
34 HPFARMA 46 45 91 11.2 79. 8
35  /NPEIEFR 50 47 97 17.2 79.8
36 | FLAAERR 49 54 103 23.2 79. 8
37 | WJITERE 56 52 108 28.0 80. 0
38 | rEFHASE 53 55 108 28.0 80. 0
39 | BAKE= 50 51 101 20. 8 80. 2
40 | FH)IEE 59 54 113 32.8 80. 2
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